THMeEE NXPEE
(FHM6F4R1BMLTM7EIAI1BET) (B4L - A)
M = FHEE RIFEFEE 1B AR|FE B
I —ARIERREAE R D AR
1. BEBEHO
(1) \EEIR
[ZFEEEINA] 670, 000, 000 686, 000, 000|A 16, 000, 000
RS E 586, 000, 000 610, 800, 000| A 24, 800, 000
ZMMHESF 4, 400, 000 4,500,000 A 100,000
ZWMEHE 19, 600, 000 10, 700, 000 8, 900, 000
(FBEIRES KFZFTINE] 1,000, 000 1,200,000 A 200,000
FEEIRESERFZTINGE 1,000, 000 1,200,000 A 200,000
(AHBEENTSERZEME] 0 0 0
AHBEENSXZERER 0 0 0
(XB&#] 3, 240, 000 3,975,000 A 735,000
2EZMEE 3, 240, 000 3,975,000 A 735,000
(REEBIEF] 28, 000, 000 29,000, 000[ A 1,000,000
ZEEARfTE 14, 000, 000 14,500, 000 A 500, 000
ZWAEHHBE 14, 000, 000 14,500, 000] A 500, 000
ZHEE#EDEE 0 0 0
(ZEF{E] 0 0 0
ZWMHFNE 0 0 0
(FEEEERR] 1,000 1,000 0
HEEEZIFS 1,000 1,000 0
€:3ER) 301, 000 501,000 A 200,000
ZELFIS 1,000 1,000 0
U 300, 000 500,000 A 200, 000
(FEEIREET] 108, 542,000 726,677,000]A 18,135,000
2) BEER
(F%E] 704,150,000 717, 200, 000|A 13, 050, 000
XILBE D& 586, 000, 000 610, 800, 000| A 24, 800, 000
XIMHEF 4, 400, 000 4,500,000 A 100,000
BTy 31,000, 000 32, 400, 000 4,600, 000
RREEE 12,000, 000 9, 500, 000 2,500, 000
EERHE 1,000, 000 6, 800, 000 200, 000
REHRTER 1, 800, 000 1, 800, 000 0
BAIELE 200, 000 250, 000 A 50,000
EESILEBRALE 3, 800, 000 3,060, 000 740, 000
EE 50, 000 50, 000 0
AEHE 1,600, 000 2,000, 000 A 400,000
REXBEE 250, 000 200, 000 50, 000
B E R E 4, 300, 000 4, 300, 000 0
BTSN & 500, 000 520, 000 A 20,000
ftaRiEmE 100, 000 10, 000 30, 000
HEMRE 4,000, 000 4,200,000 A 200,000
EEE 500, 000 500, 000 0
ENEEY.S 1,000, 000 2,000, 000f A 1,000, 000




# = FEE RFEETEEE B AR |KE &
FEKHE 100, 000 700, 000 0
g 8, 500, 000 9, 800, 000f A 1,300,000
R 4, 800, 000 4, 800, 000 0
MR AR 16, 000, 000 9, 000, 000 71,000, 000
XhREE 800, 000 800, 000 0
EitE 1,200, 000 1,500,000 A 300,000
BME 50, 000 50, 000 0
X FEH 1, 500, 000 1, 500, 000 0
BB 0 0 0
HE 100, 000 100, 000 0
(EEE] 12, 261, 000 13,437,000] A 1,176,000
& B 4,700, 000 4, 600, 000 100, 000
aHFS 600, 000 800, 000 A 200, 000
RREEES 500, 000 430, 000 70, 000
EERHE 800, 000 800, 000 0
RBRAER 150, 000 100, 000 50, 000
BAIELE 150, 000 15, 000 135, 000
E55|SEBARE 380, 000 300, 000 80, 000
E 31 30, 000 30, 000 0
KEEREXEE 100, 000 300,000f A 200, 000
REXEE 710, 000 80, 000 A 10,000
BIEERE 120, 000 150, 000 A 30,000
HERE 1,000, 000 1,270,000 A 270,000
1EHEsE 1, 000, 000 1,000, 000 0
SRy X = 150, 000 300, 000] A 150,000
SHKHE 10, 000 10, 000 0
&M 1, 600, 000 2,000, 000f A 400, 000
R 61, 000 61, 000 0
AHE 100, 000 250,000 A 150,000
R AER 25,000 15, 000 10, 000
XihREE 350, 000 300, 000 50, 000
ZtE 200, 000 400,000 A 200, 000
I FHH 5,000 10, 000 A 5,000
HE 100, 000 156, 000 A 56,000
(REEA] 716,411,000 730, 637, 000| A 14, 226, 000
(EPUEEes PR A 7,869,000] A 3,960,000] A 3,909,000

2. BEENMEBOE
(1) #EESMRE
RE SR E 0 0 0
2) BENEH
RENERG 0 0 0
LEREIMEREE 0 0 0
fth x5t E4E 0 0 0
LR — AR IE R BA 1B R EE A 7,869,000 A 3,960,000] A 3,909,000
—RIEKBIEREES 141,8217,015] 135, 871, 407 5, 955, 608
—RIERMERRES 133,958, 015] 131, 911, 407 2,046, 608
I ERMEHRRES 133,958, 015] 131, 911, 407 2,046, 608







